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ES-335 : TEACHER AND SCHOOL 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All four questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words : 

What do you understand by the hierarchies in 
school system ? What are its different types ? 
Explain each of them with illustrations and 
describe the best in your opinion with suitable 
reasons. 

OR 
What is the need of student rating of teachers ? 
Mention the different tools used for it and the 
problems being faced. Suggest some ways to over 
come them. 

2. Answer the following question in about 
600 words : 

Explain the nature of educational leadership. 
How do you justify that the principal is a leader 
in the school management ? Mention the qualities 
he/she should possess. 

OR 
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How are Parent Teacher Associations (PTA) 
indispensable for a school's functioning ? What 
should be the objectives and activities of PTA ? 

	

3. 	Answer any five of the following in about 
120 words each : 
(a) Explain how education is a socialization 

process ? 
(b) Which are the three lists in the constitution 

for Education ? 
(c) How will you define the organizational 

behaviour ? 
(d) Explain the need for the integrated 

personality of a teacher. 
(e) Describe the group decision - making 

techniques with suitable examples. 
(f) What are the instructional leadership roles 

of a teacher ? 
(g) What are the difficulties faced by teachers 

and students in organising co - curricular 
activities ? 

(h) Describe the types of records that the school 
has to maintain ? 

	

4. 	Answer the following question in about 
600 words : 
If you are put in a school as a Science or a 
Language teacher and the school does not have 
the infrastructural facilities required by you, how 
would you perform the expected roles more 
effectively ? 
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